energy resolution with the NN

ver dis
y

5

nowers beginning



ers and corresponding energy, it can
ne energy from new parameters



iables in the NN input
7 /

ond to the
‘who trigs the three

etector

7
A

///?o/ we hope to improve this
y 4 y

7



‘our detector (like
pute new variables

7 /'"
.

U //é/, : . . :
owers and look If the variables fits with data






\ v 74
| A /v//// 7
g //
y
2/ /'//v

h for full longitudinal containm



j utlng the variables

/%///

plottec |stograms of those variables for
'?/;/ ergies to determine if we can use

%

valuate the energy



Entries 1000

==t |_| L L1 1 I L1 E_
10 15 20 25 30 35 40
zbegin




htemp

Entries

1000

4
m nb, pd o
i __4
HAE 3 3
il £ L
H ani
[ .
‘h:lﬂ I 1 “"k% e i
20 30 40 50 60 70
dens11
htemp
Entries 1000
10°
1
_EI I"‘LI — 1_
10 HHH Zf]_lfl E
R 3?
14 & :;x
I3 e ié iy § i
1 E Eees /<—
B o
¢ .
10 e 23 5 AINED e il
0 10 15 20 25 30 35 40 45

dens12

ne is for a density
hits

i hat th |
% e can see that the separation

between energies is more clear
that for the beginning




60

40

20

50

40

30

20

10

1
p: 8 1

7

E\Jl

A

[HAAREE

I 11
1
I
T TaTT

is .‘! =1
[TH
5
|

=T

Sl

P L
S B o F

BRI ETT
W 9 B o

;N..M.
T P
.NPIJ'.I’.:I

AT TR |

EEEHMATF
Pl
TR

S T
JEERE

71——II|IIII|IIII|IIII|IIII|

sterminant because
////{/ much hits
und the axis of the

’ / A |
oy

/,,///////M
A at why we try to apply a
cut on the density



220
200
180
160
140
120
100
80
60
40
20

htemp

Entries

1000

,-_}#H*III“II'III|III|III|III|III|III|III|III|

N

=]

50

40

30

20

100+

4]

1 35 L1 I4n

rmaxcut

htemp

Entries

1000 | =

;

ki
10

20

25

30

L
a5 40
zmaxcut

////'/ ’
2\/ are quiet separated of

2 other energies but that
e difference between 50
and 100 GeV are not
obvious



Entries

1000

7
7

N

20

30

40

I 1 1
50
lastlayerhits







	Diapo 1
	Diapo 2
	Diapo 3
	Diapo 4
	Diapo 5
	Diapo 6
	Diapo 7
	Diapo 8
	Diapo 9
	Diapo 10
	Diapo 11
	Diapo 12
	Diapo 13

